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SECTION-I (ENGLISH)

Choose the opposite of "bright".

(a) bull (b) shell (c) dull
Choose the correct word :

One toe, many .

(a) tos (b) toes (c) toses
Identify, the 'subject' in the following sentence.

My mother baked a cake.

(a) baked (b) my (c) my mother
The word 'sedentary’ means :

(a) alert (b) active (c) lazy
Unjumble the given letters to form the correct word :

TAVIMINS

(a) TASINIMV (b) VITAMINS (c) SNIMIVAT

Identify the phrase in the following sentence :
The children are playing in the garden.

(a) are (b) playing (c) in the garden
Which group of food more important?

(a) Milk group (b) Fat and sweets group (c) Meat group
Use the words to fill in the blanks :

The boys peeling potatoes.

(a) was (b) is (c) were
Solveriddle :

I start with 'A' and ends with 'E',

Everyone says that a doctor

runs away because of me.

(a) above (b) agate (c) apple
Complete the chart by filling appropriate from the option :

Cold drinks, Aam panna

Juices ?

(a) Kulfi (b) Tomato (c) Lemonade

(d) day

(d) tows

(d) cake

(d) junk food

(d) TAVIMNIS

(d) none of these

(d) Vegetable and fruit group

(d) has

(d) acute

(d) Rice
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SECTION-II (MATHEMATICS)

L.

10.

How do you write four thousand using digits?

(a) 4 (b) 4000
The smallest counting number is :
(a) 0 (b) 1

10 hundreds + 10 tens = tens

(a) 100 (b) 1000

The place value of 7 in 3672 is :

(a) 70 (b) 7

8000 + 50 + 2 is the expanded form of :
(a) 852 (b) 8520

The roman numeral for 24 is :

(a) XXIV (b) XXIIII

Write the numeral of each of the following :

6 thousands 5 hundred 2 tens 7 ones

(a) 6527 (b) 6725

Write the smallest 3-digit number?

(a) 10 (b) 100

Write the expanded form of 4457
(a)400+40+5 (b) 400 +30 + 4
What is the square for 8?

(a) 4 (b) 25

(c) 400

(c) 10

(c) 101

(c) 700

(c) 8052

() XXVI

(c) 7654

(c) 99

(c) 400 +20 + 3

(c) 64

(d) None of these

(d) None of these

(d) 11000

(d) 7000

(d) 872

(d) None of these

(d) 2345

(d) 999

(d) 400+ 10 +2

(d) 81

SECTION-III (SCIENCE)

L.

Plant and Flesh eating animals are called :

(a) Herbivores (b) Carnivores

A sequence showing who is eating whom is called :

(a) Water chain (b) Food chain
Herbivores eat :

(a) Plants (b) Flesh

Frogs their food.

(a) Chew (b) Suck
Which one of these is a gnawing animal?
(a) Rabbit (b) Frog
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(c) Omnivores

(c) Air chain

(c) Both plant and flesh

(c) Swallow

(c) Snake

(d) None of these

(d) All of these

(d) None of these

(d) Gnaw

(d) Dog
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6.

10.

A butterfly
(a) Suck (b) Chew

An antispectic lotion is used in case of a minor :

(a) burn (b) insect bite
We should obey the rules of the
(a) Light (b) Road

The first help that an injured person needs is called

(a) First aid (b) Second aid

All the vehicles have to move when the signal turns

(a) Red (b) Green

the nectar of the flowers.

(c) Swallow

(c) cut

(c) Water

(c) Help

(c) Yellow

(d) Gnaw

(d) sprain

(d) Electricity

(d) Care

(d) None of these

SECTION-1V (SOCIAL STUDIES)

L.

10.

How many types of family?
(a) One type (b) Three types
Children who do not have parents are :

(a) Orphan (b) Blind

People who cannot hear are :

(a) Blind (b) Dumb

Who wrote our 'National Anthem'?

(a) Rabindranath Tagore (b) Mahatma Gandhi
A family tree always starts from the :

(a) Parents (b) Grandparents
People who cannot speak are :

(a) Lame (b) Deaf
What is the name of our country?

(a) Bhutan (b) India

(c) Two types

(c) Sick

(c) Lame

(c) Bankim Chatterjee

(c) Children

(c) Dumb

(c) China

A family where parents and their one or two children live together :

(a) Joint family (b) Nuclear family
What is the name of our state?

(a) Punjab (b) Haryana
What is the name of our district?

(a) Ch. Dadri (b) Panipat

(c) Both (a) and (b)

(c) Rajasthan

(c) Rewari

(d) Four types

(d) Dumb

(d) Deaf

(d) Subhas Chandra Bose

(d) Father

(d) Blind

(d) Nepal

(d) None of these

(d) Gujarat

(d) Sonipat
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SECTION-V (COMPUTER)

1. A computer needs to run.
(a) Energy (b) Electricity (c) Air and Water (d) Food
2. Brain of a computer is .
(a) CPU (b) Keyboard (c) Mouse (d) Joystick
3. Joystick is a .
(a) Input (b) Output (c) Both (a) and (b) (d) None of these

4. The app shown in the given image can be used to

(a) Share images, Location, etc. (b) Make voice calls

(c) Make video calls (d) All of these
5. Computer makes our work easier and .

(a) Faster (b) Lazy (c) Waster (d) None of these
6. display the output on the screen.

(a) L.ED (b)) T.V (c) Monitor (d) None of these
7. is used to listen music.

(a) Speakers (b) Light pen (c) Monitor (d) None of these
8. Computer needs to do work.

(a) Instruction (b) Energy (c) Electricity (d) None of these
9. Who work faster .

(a) Computer (b) Human (c) Animal (d) None of these
10. A computer has keyboard with many

(a) Block (b) Keys (c) Buttons (d) None of these
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